[ Efficiency vs vertpos |

~ 0.2
o

20.18
2
2.0.16
(8]

& 0.14F
o

o012
0.4
0.08
0.06
0.04
0.02

Ratio

10f

H

L1

[

Efficiend

0.98
1072

- . T

g 1 LEHF A
ik - -+
. T4+ 14
. *¥4 +

I Erdkasd E S S e o s IR
= Ll
10

[ fake+duplicates vs vert r

0.8

0.7

0.6

0.5

fake+duplicates vs. r

0.4
0.3
0.2

0.1-

Ratio

~ 0.1
$0.09
2]
£0.08
>
2
50.07
£0.06
(]
0.05
0.04
0.03
0.02)
0.01

.................

...............

...............

10

Ratio

1.

i

e

20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |

N~ 0.
>
20.09
£
=0.08
20.07
Py
£0.06
(&}
£0.05
(]
0.04
0.03
0.02)
0.0

10

Ratio

1.

o
«

N BT
B S
...... ##*
# # oo A,

:—+ ------- R PR R PR

. L. L .+I raa o]

H F ]

1:. = S [ 4 S Ry LS - Y IR 0 A IR I O e

H T|T+ 1

- - S

1H : ]

H L ]

H b

I
pio
o

1015 20
Sim. PV z (cm)

B.04BE e b e,
o F 5
£0.04F -+t b
O o :
BLOBBE ki : ISR R
3 F : :
T0.08F oo % T SRS S
3 E P :
52).025:— ---------------- -7 b
F $ :
o.ozE— ------------------ i { o
0,015+ h-eeesiees 8 O S
.01 -+ heesenes ol b b
0101 SRR SR 0 1 (| H0 EXPRSR SRS
o wOFebeew b il di i
K E : ‘
a g 1:— """" T 1 L
0.95— ------- ~ ----------------------------
=20

-10

0 10 20 30
track ref. point z (cm)

[ fake+duplicates vs Sim. PV z |

N 0.0
> E
8.0.09c
e E
7] 0.085—
£0.07F
2 F
S 0.06F
@ E
£0.05
o F
50.04F
=} E
F0.03F
N

Ratio

Sim. PV z (cm)



	Contents
	Page 1


